= A
N = 0 &8 AFH Y & A AN
20229 & =& 2 3 LESA ol X
2A: ol Xl
Ha: (oMY AE Y DT
Sol oL XA S (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
IEPn ] 26,666,033 24,005,864 2,660, 169
=2 6,900,000 6.900,000 0
7| 2,186,400 0 2,186,400
[= 17,579,633 17,105,864 473,769
XA As 2 DEs 2,102,565 1,952,565 150,000
(N IE P PPN C 2,102,565 1,952,565 150,000
HMOIX HHEf 2l THALE Ar S DIsHe 150,000 0 150,000
306 592 150,000 0 150,000
01592 150,000 0 150,000
OFIIZ HUIE2 HAIE As DB = 150,000 0 150,000
MUXIES L ATHMHEHK B2 2,186,400 0 2,186,400
7| 2,186,400 0 2,186,400
HUX &t =X 2,186,400 0 2,186,400
J| 2,186,400 0 2,186,400
Mz K= ALY 2,186,400 0 2,186,400
Il 2,186,400 0 2,186,400
308 XXM SOl A 2,186,400 0 2,186,400
Jl 2,186,400 0 2,186,400
01 HXSHIANEERS 2,186,400 0 2,186,400
OFMdZ X=35 NA(HEA) 2,186,400 0 2,186,400
Jl| 2,186,400 0 2,186,400
U IEP PSR- =V 9,219,000 8,899,000 320,000
2 6,900,000 6,900,000 0
[=4 2,319,000 1,999,000 320,000
Ol XKl AlAtS &b J|BER = 9,219,000 8,899,000 320,000
=2 6,900,000 6,900,000 0
[=4 2,319,000 1,999,000 320,000
OlHI2AXMEIY SHAL(2IHEFIL 320,000 0 320,000
306 512 320,000 0 320,000
01592 320,000 0 320,000
02022 GHI+AM2I|Y A A 320,000 0 320,000
HEES (0l X ) 12,877,628 12,873,859 3,769
SEIE(0H XL 3,769 0 3,769
HIIAIY SIOHXIEOILAIR) 2DEEXS BHE =3 3,769 0 3,769
802 BHEt 2| Et 3,769 0 3,769
01 2NEx=2ets2 3,769 0 3,769
OFIIAY HIHXEOILAIR) 2DEXS
== 3,769 0 3,769




